5.5B HW Answers

Tuesday, January 16, 2018 1:11 PM

40. 2sin’ x+sinx—1=0 44. 2sin’ x =4sinx+6
(2sinx=1)(sinx+1)=0 2sin® x—4sinx—6=0
2sinx—-1=0 or sinx+1=0 (2sin x+2)(sinx=3)=0
2sinx =1 sinx = -1 2sinx+2=0 or sinx-3=0
Sin_r:l 2sinx=-2 sinx=3
2 sinx=—1
5 3
x:i X= E x:—}r 3}?
6 6 2 X=—
St 2
The solutions in the interval [0,27) are ; ? and sinx cannot be greater than 1.
D 8 3
Ir The solution in the interval [0,27) is 7}?
2 .
o 2 s o 46. cos’@-1=0
. cos”x+2cosx-3=
o8 *1 cost N (cosO—T)(cos@+1)=1
~08 X —1)(cos x +3) =
(cosx—1)(cos x+3) cos@—-1=0 or cos@+1=0
cosx—1=0 or cosx+3=0
cos@d=1 cos@=-1
cosx =1 cosx=-3
0 6=0 O=r
e The solutions in the interval [0,27) are O and & .
cosx cannot be less than —1.

The solution in the interval [0,27) is 0.

48. 4sin’x-3=0 50. 3tan’x-9=0

sin®x== lan'x—'()
4 3
3 2
sinx==,|— tan“ x =3
4 lanx:i\/i
sin.1'=i£ tan x =+/3 or [anx:—\/g
2 T 4r 2r 5w
\/5 X=—,— X=—,—
sinx =—— or sinx=-— 3 3 3 3
B 2 The solutions in the interval [0,27) are
T 2r 4 Sm
X:?’T X:T’T 7 2w 4rm and S
- . 3°3°3°°7 3
['he solutions in the interval [0,27) are
T 2w 4w St
—,—,—, and —.
3 3 3 3

52. 4sec’x—-2=0 56. (2cosx—-/3)(2sinx—1 =0
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52. 4sec’x-2=0 56. (2cosx—\/§)(281nx—1)={]

2

seczxzz 2005x—\/§=0 or 2sinx—1=0

cosix=2 2cosx=J§ 2sinx =1

cosxziﬁ Cosx:_3 sinle

No solution. 2

T 17 T Sr
= X = = X=—
6 6 6 6

54. (tanx+1)(sinx—1)=0 The solutions in the interval [0,27) are

tanx+1=0 or sinx—1=0 -7‘5--.-”_:”“' | 17z
tanx =-1 sinx=1 6 6 6
3z V¥ T
x=" x== -
4 2 2 58. cotx(tanx+1)=0

The solutions in the interval [0,27)
cotx=0 or tanx+1=0

are and an is undefined at rx tan x =—1
- Vi d Ry 3T 1z
X=— X=— X=— X=—o0
2 2 4 4
The solutions in the interval [0,27)
are
3 i ) . T 3
and — since tan is undefined at 5 and 7
62. cot® xsinx = cot® x
60. cosx—2sinxcosx=0 . 2
cot” xsinx—cot" x=0
cosx(l-2sinx)=0 .
( ) _ cot2(sinx—-1)=0
cosx=0 or 1-2sinx=0 5 )
. cot“x=0 or sinx—1=0
—2sinx=-1 ]
| cotx=0 sinx =1
sinx =— T kY4 T
2 X=— x=— xX=—
T 3 T ¥/ 2 2 2
X=— X=— X=— X=—o0 ) ) . T 3T
2 2 6 6 The solutions in the interval [0,27) are = and —.
The solutions in the interval [0,27) are 2 2
T T Sm 3T
—,—,—,and —
6 2 6
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